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Words and Numbers:

The Tetractys is 10
An Onze is 11
A Dozen is 12,
A Baker's Dozen is 13.
A Fortnight is 14 days.

The Ides is 15.

g Periodic Table of the Elements e
3 4| B hydrogen poor metals 5 () 7 8 8 10
Be alkali metals B nonmetals B CIN]|O F | Ne
™ = B olkali earth metals B noble gases O T BT ™ — "
3@ B transition metals B rare earth metals Si =} S cl | Ar
19 20 21 22 23 24 29 28 27 28 29 30 3 2 33 34 35 3%
Ca|Sc|Ti |V |Cr|Mn|Fe |Co|Ni | Cu|Zn As | Se| Br | Kr
7 40 41 42 43 44 45 48| 47| Q a9 50 5 82 53 54
Sr|Y |Zr |[Nb|Mo| Tc | Ru|Rh |Pd | Ag |Cd Te| | | Xe
55 56 57 72 73| 74 78 76 77 78 79 80| 81 82| 83| 84 85
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